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'Y ulisa Putri
: 0913042022
: SMPN 1 Karya Penggawa Krui
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Achievement Using Anecdote Text at the Third Grade of
SMPN 1 Karya Penggawa Krui Pesisir Barat

: 1. H. Ujang Suparman, M. A., Ph. D
2. Drs. Ramlan Ginting Suka

No. Date Activities
1 | September 16™-18", 2013 Observation

2 Saturday, September 21", 2013 Try out testin 1X A
3 | Wednesday, September 25", 2013 Pretestin 1XB

4 | Saturday, September 28", 2013 1¥ treatment in 1XB
5 | Wednesday, October 2", 2013 2" treatment in 1XB
6 | Saturday, October 5", 2013 3% treatment in 1XB
7 | Wednesday, October 9™, 2013 Post test in 1XB

Krui, September 2013
Writer

Y ulisa Putri
SRN 0913042022



Appendix 2

The number of group in the experimental class

No

Group member

Group 1

. Aria Saputra

. Eci Yunita

. Hendri Gunawan

Group 2

. Arrapi Arip

. Asda Yani

. Eprina

. Iwan Naga Putra

Group 3

. Arif Saputra

. Novi Yanti

. Lekat Hasanah

Group 4

. Cindi Aguszaman

. Nur Wahyuni

. Emilia Wati

Group 5

. Dedi Rahmat

. Yunita Sari

. Beni Saputra

Group 6

. Endodi

. Mia Sopia

. Hedi Yana

Group 7

. Wawan Ariansyah

. Patma Wati

. Meza Elia

. ldza Mahendra

Group 8

. Yanuar

. Melda Asyana
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. Fedi Mulyansyah
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Appendix 3

The students’ scoreof Try Out Test

NO STUDENT'SNAME | TOTAL CORRECT | SCORE
1 AW 26 52
2 AP 37 50
3 AT 20 40
4 AS 25 74
5 BF 34 68
6 CA 33 58
7 CE 22 44
8 DG 32 64
9 EH 29 58

10 El 27 54

11 FP 30 60

12 F 32 64

13 HY 24 60

14 IS 28 56

15 JA 30 60

16 LR 27 54

17 LW 38 76

18 MS 26 52

19 MP 25 50

20 MY 36 72

21 NF 19 38

22 NK 29 58

23 RY 22 44

24 RB 33 66

25 su 36 72

26 ss 24 48

TOTAL SCORE 1488
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Appencix 4

Theréliability of upper group try out

No [ Item _I _I _I Total | 1har | 2ndnal
1 2l 3| 4 6 o 10| 11| 12| 13[ 14| 15| 16[ 17| 18] 19] 20] 21| 22 23] 24| 25| 26| 27| 28| 29| 30| 31| 32| 33| 34| 35| 36| 37|38| 39| 40| 41| 42| 43| 44| 45 47 49| 50| X y X2 Yz

1 |odd 1 0 1 1 1 1 1] 1 1 1 1|10 1 0 1 1 1 1 1 1 1 1 0 0 38 18 20
Even 1 0 1 0 1 0 1 1 1 0 1 0 1 1 1 1 1 1 1 1 1 342 | 400

2 |Odd 1 1 1 1 0 0 1] 1 1 1 1|11 1 1 1 1 0 1 0 0 1 1 1 0 37 18 19
Even 1 1 1 1 0 1 1 1 0 0 0 1 0 1 1 0 1 0 . 1 1 324 | 342

3 |Odd 1 0 1 1 1 0 1] 1 1 1 1|10 1 1 0 1 0 1 1 1 0 1 1 1 36 17 19
Even 1 1 1 1 0 1 1 0 1 1 0 0 0 0 1 1 1 1 1 1 0 289 | 342

4 |Odd 1 1 1 0 1 1 1] 1 0 1 1|11 1 1 1 1 0 0 1 1 0 1 1 1 36 19 17
Even 1 0 1 0 1 0 1 1 1 1 0 0 1 1 1 1 1 0 1 1 1 342 | 289

5 |Odd 1 1 1 1 1 1 o] 1 1 1 1|10 0 1 1 0 0 0 0 1 0 1 0 1 34 16 18
Even 1 1 1 1 0 1 1 0 0 0 1 0 1 1 1 0 1 0 1 0 0 256 | 324

6 |Odd 1 1 1 1 0 0 1] 1 0 0 1|10 1 1 1 1 0 1 1 1 0 1 1 1 33 16 17
Even 1 1 1 1 0 1 0 0 1 0 1 0 1 0 1 1 1 0 0 1 1 256 | 289

7 |Odd 1 1 1 1 0 1 0] O 1 1 1|11 1 1 1 1 0 1 1 1 0 1 0 1 33 17 16
Even 1 1 0 0 1 0 1 1 1 0 1 0 0 0 1 1 1 0 1 1 1 289 | 256

8 |Odd 1 0 1 1 0 1 0|l O 0 0 1|11 1 0 1 1 1 1 0 0 0 1 0 1 32 15 17
Even 1 1 1 1 1 0 1 1 1 1 1 0 1 0 0 1 0 1 1 1 1 225 | 289

9 |odd 0 1 0 1 1 0 1] 1 0 0 1]0 0 1 1 1 0 1 0 1 0 1 1 1 32 17 15
Even 1 1 1 1 0 1 1 1 0 0 0 1 1 1 0 0 1 0 1 0 1 289 | 225

10 |odd 1 1 0 1 1 1 0|l O 1 0 1|11 0 1 0 1 0 1 1 1 0 0 1 1 30 15 15
Even 1 1 1 1 1 1 0 1 1 0 0 1 0 1 1 1 1 0 1 0 0 225| 225

11 |odd 1 0 1 0 0 1 1] 1 0 1 1|11 1 1 1 1 1 1 0 1 0 0 0 1 30 17 13
Even 0 1 0 0 0 1 0 1 0 1 0 1 0 1 1 0 0 0 1 1 1 289 | 169

12 |odd 1 1 1 0 1 0 1] 1 0 1 1|11 1 0 1 0 1 0 1 1 0 1 1 0 29 17 12
Even 1 1 1 1 1 0 0 1 1 0 0 1 0 1 0 1 1 0 1 0 0 289 | 144

13 |odd 1 1 1 1 0 1 o] 1 0 0 1|11 1 0 1 0 1 1 1 1 0 0 1 1 29 16 13
Even 1 0 1 0 0 1 01 1 0 1 1 0 1 1 0 1 0 1 0 0 1 256 | 169
Total 13| 12] 10| 12 11 101 9] 9| 5]15| 4| 8|11| 8| 6 | 12| 14| 4| 12| 12| 10| 9| 11) 13| 13| 10| 10| 13|13| 9 | 10| 9| 3| 12| 9] 10| 8| 8| 12| 11| 10| 12 3 9| 9] 429| 218| 211 | 3671| 3463

Appenc ix 5

2eliability Analysisof Lower Group Tryout Test




No | ltem Towd |1t hal{2nd b X2 | Y2
2 10| 11] 12| 13[ 14| 15| 16| 17| 18] 19| 20| 21 22| 23] 24| 25| 26| 27| 28| 20| 30| 31| 32| 33| 34| 35| 36| 37|3s] 30 40f 42] 42] 43 47| 48] 49 x | v

14 |odd 1 Jo] J2f [o]o ol [of [2]2 1 1 0 0 1 1] |o] |2 0 0 1 28| 15 | 13 196 122
Even 1 1 1] o] |1 o [o] |1 0 1 0 0 1 1f fo] |1

15 |odd 1| J1] Jof [o]o ol [1f [ofo 1 1 1 0 0 1] of o] |2 0 1 27| 13| 14 [ 225( 160
Even 1 1 1] 1] |1 1] [1] Jo 1 0 1 0 1] Jof [1] o

16 |odd o] Jo| [1] Jo]o ol [af [2]2 0 1 1 1 0 o] [of J2] o 1 0 27| 12 | 15 [ 160 106
Even 1 1 1] o] o 1] [o] |1 0 1 0 1 0 1 1] Jo

17 |odd o Ja] [1] Jo]o o] [1f [ofo 1 0 1 0 1 of [af 2] |2 0 1 26| 16 | 10 [ 144 225
Even 0 0 1] o] |1 o o] |1 1 0 0 0 1] Jof [o] |1

18 |odd 1| Ja] Jaf [a]o o] [of [2]2 0 1 0 1 1 of [of J2] |2 0 1 26| 15 | 12| 256 | 100
Even 1 1 o] [of |1 o o] |1 0 0 0 1 1] Jof [o] |1

19 |odd 1| Ja] Jaf [a]o o] [of [z1]o0 0 1 0 1 1 of [af 2] o 1 1 25| 15 | 10|25 122
Even 0 0 1] Ja1] |1 1] [1] Jo 0 0 0 1 1] Jof [o] Jo

20 |oad o] Jo| [o] Jo]o 1] [of [:1]2 0 1 1 1 1 o] [of Jo] Jo 0 0 25| 14 | 12| 225] 100
Even 0 1 1 |o] |2 ] [z] [o 0 0 0 0 0 [ [o] [o

2 |odd 1 |1] Jof [o]12 o] [of [z1]o0 0 1 0 1 1 o] [of |12] |2 0 1 24| 13| 11 [ 196 122
Even 1 1 1] o] o o [o] Jo 0 0 1 0 o o] Jof] [1

22 |odd 1| J1] Jof [o]o ol [xf [zf2 0 1 1 1 0 1] 1] [2] Jo 0 1 24| 12 | 12 [ 160 122
Even 0 0 ol [1] [1 1] [o] Jo 0 1 0 1 1] Jof [1] Jo

23 |odd o] Jo| [o] Jo]o 1] [of [zfo 1 0 1 0 0 1] 1] o] Jo 0 0 22| 10 | 12| 144 144
Even 0 1 ol [1] [1 o [o] |1 1 0 0 1 1 1f [o] Jo

24 |odd 1| Jo] J2f [o]o ol [1f [z]o 0 1 0 1 1 1] [of [2] |2 1 0 22| 12 | 10| 169 100
Even 1 1 o] [of [z 1] [o] Jo 0 0 1 1 o [o] Jo] [o

25 |odd o] Jof [1] [z1]o 1] [of [zf2 0 1 1 0 0 1] 1] o] Jo 1 0 20| 1] o] e
Even 1 0 1] o] [1 1] [o] Jo 0 0 0 0 o [o] Jo] [o

26 |odd o] 1] [o] [z1]o0 1] 1] [ofo 1 0 0 0 0 1] [of [2] Jo 1 0 19 o | 10] &1 100
Even 0 1 1] o] [1 o 1 1 0 0 1 1 0 1f [o] |1

Total 10 6f 11| 2] of 2f 7| 7 o 3] 8 & 3| 5| 7| 2| of 4] 4] 2| 6 7 5[ 7] 6f 4 5|3 4 8 7] 7|6 4 5| 1] 315| 167] 148 2124] 1578
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Appendix 6

Level of difficulty and Descrimination power of Try Out Test
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N | Corredt | Cormeet | ity Discriminat )
o Upper | Lower Level Remark | = 0 o Remark Decision
(Cu) (CL)

1 13 7 0,76 easy 0,46 good revised

2 12 10 0,84 easy 0,15 satisfactory administered
3 10 5 0,57 average 0,38 satisfactory administered
4 12 6 0,69 average 0,46 good revised

5 9 7 0,61 average 0,15 satisfactory administered
6 4 3 0,26 difficult 0,07 poor droped

7 11 8 0,73 easy 0,23 satisfactory administered
8 9 8 0,65 average 0,07 poor revised

9 10 8 0,69 average 0,15 poor revised
10 9 6 0,57 average 0,23 satisfactory administered
11 9 11 0,76 easy 0,15 poor revised
12 5 2 0,26 difficult 0,23 satisfactory dropped
13 15 9 0,92 easy 0,46 good revised
14 10 2 0,46 easy 0,61 good administered
15 8 7 0,73 easy 0,07 poor droped
16 11 7 0,69 average 0,30 satisfactory administered
17 8 9 0,65 average 0,07 poor revised
18 6 1 0,26 difficult 0,38 satisfactory droped
19 12 8 0,76 easy 0,30 satisfactory administered
20 14 8 0,84 easy 0,30 satisfactory administered
21 4 3 0,26 difficult 0,07 poor droped
22 12 5 0,65 average 0,53 good administered
23 12 7 0,73 easy 0,38 satisfactory administered
24 13 5 0,69 average 0,61 good administered
| 9 9 069 | average 0,00 d&ri;‘n?n tion | administered
26 11 4 0,57 average 0,23 difficult revised
27 13 4 0,65 average 0,69 good administered
28 13 2 0,57 average 0,69 good administered
29 10 6 0,61 average 0,30 satisfactory administered
30 10 7 0,65 average 0,23 satisfactory administered
31 4 2 0,23 difficult 0,15 poor droped
32 13 7 0,76 easy 0,27 bad droped
33 9 6 0,57 average 0,11 poor revised
34 10 8 0,69 average 0,15 poor revised
35 9 6 0,57 average 0,11 poor revised
36 3 4 0,26 difficult 0,07 bad droped
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37 12 5 0,65 average 0,53 good administered
38 9 3 0,46 average 0,46 good administered
39 10 4 0,53 average 0,46 good administered
40 12 7 0,73 easy 0,38 satisfactory droped
41 8 7 0,57 average 0,07 poor revised
o 8 8 061 | average 000 | o rr:]?n tion revised
43 11 6 0,65 average 0,84 exceent administered
44 10 6 0,61 average 0,30 satisfactory administered
45 12 9 0,80 easy 0,23 poor revised
46 3 4 0,26 difficult 0,07 bad droped
47 7 7 0,53 average 0,00 descri rr::i)n ation administered
48 8 5 0,53 average 0,23 satisfactory administered
49 9 5 0,53 average 0,30 satisfactory administered
50 5 4 0,34 easy 0,07 poor revised




Appendix 7
Reliability analysis of Try out

Student’s 1% Half 2" Half

No. Code X Y Total X2 Y2 | XY
1 AW 18 20 38 342 400 | 360
2 AP 18 19 37 324 342 | 342
3 AT 17 19 36 289 342 | 323
4 AS 19 17 36 342 289 | 323
5 BF 16 18 34 256 324 | 288
6 CA 16 17 33 256 289 | 272
7 CE 17 16 33 289 256 | 272
8 DG 15 17 32 225 289 | 255
9 EH 17 15 32 289 225 | 255
10 El 15 15 30 225 225 | 225
11 FP 17 13 30 289 169 | 221
12 F 17 12 29 289 144 | 204
13 HY 16 13 29 256 169 | 208
14 IS 15 13 28 196 121 | 195
15 JA 13 14 27 225 169 | 182
16 LR 12 15 27 169 196 | 180
17 LW 16 10 26 144 225 | 160
18 MS 15 11 26 256 100 | 165
19 MP 15 10 25 225 121 | 150
20 MY 14 11 25 225 100 | 154
21 NF 13 11 24 196 121 | 143
22 NK 12 12 24 169 121 | 144
23 RY 10 12 22 144 144 | 120
24 RB 12 10 22 169 100 | 120

25 SU 11 9 20 121 81 99

26 SS 9 10 19 81 100 90
Total 385 359 744 5991 5163 | 5450




Appendix 8
The Reliability Computation of the Data Collecting I nstrument

a. Reliability of the half test:
Y XY
RIRE

B 5450
5991[5163]

5450
V30931533

5450
5561.61

n =

=

1, = 0.97993207

b. Rediability of the wholetest

k= 2ri
ke 1+l
2(0.97993207)
rk =

14 0.97993207

195986414
~ 197993207

rk = 0.98986433



Appendix 9

Students’ score of pretest

NO STUDENT'S CODE SCORE
1 AS 50
2 ASR 52
3 AA 40
4 AY 60
5 BS 55
6 CA 60
7 DR 52
8 EY 60
9 BW 65
10 EN 47
11 ER 35
12 FM 60
13 HY 45
14 HG 50
15 IM 35
16 IWP 70
17 LH 60
18 MA 60
19 ME 47
20 MS 32
21 NY 45
22 NW 60
23 PW 47
24 PA 60
25 YW 45
26 YS 55
TOTAL 1347
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Appendix 10

Students’ score of Posttest

NO STUDENT'S CODE SCORE
1 AS 72
2 ASR 65
3 AA 60
4 AY 75
5 BS 67
6 CA 75
7 DR 67
8 EY 75
9 BW 80
10 EN 62
11 ER 57
12 FM 77
13 HY 62
14 HG 65
15 IM 52
16 IWP 77
17 LH 60
18 MA 67
19 ME 65
20 MS 50
21 NY 60
22 NW 55
23 PW 62
24 PA 67
25 YW 62
26 YS 65
TOTAL 1701
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Appendix 11

Thedistribution of students’ score (pretest-posttest)

Pretest
Comulative
Frequency | Percent | Valid Percent Percent

Vaid 32.00 1 3.8 3.8 3.8
35.00 2 7.7 7.7 115
40.00 1 3.8 3.8 15.4
45.00 3 115 115 26.9
47.00 3 115 115 38.5
50.00 2 7.7 7.7 46.2
52.00 2 7.7 7.7 53.8
55.00 2 7.7 7.7 61.5
60.00 8 30.8 30.8 92.3
65.00 1 3.8 3.8 96.2
70.00 1 3.8 3.8 100.0
Tota 26 100.0 100.0

Statistics

Pretest

N valid 26
Missing 0

Mean 51.8077

Median 52.0000

Mode 60.00

Std. Deviation 0.74482

Variance 94.962

Range 38.00

Minimum 32.00

Maximum 70.00

Sum 1347.00
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Postest
Cumulative
Frequency | Percent | Valid Percent Percent

Vaid 50.00 1 3.8 3.8 3.8
52.00 1 3.8 3.8 7.7
55.00 1 3.8 3.8 115
57.00 1 3.8 3.8 15.4
60.00 3 115 115 26.9
62.00 4 15.4 15.4 42.3
65.00 4 154 154 57.7
67.00 4 15.4 15.4 73.1
72.00 1 3.8 3.8 76.9
75.00 3 115 115 88.5
77.00 2 7.7 7.7 96.2
80.00 1 3.8 3.8 100.0
Tota 26 100.0 100.0

Statistics

Postest

N valid 26
Missing 0

Mean 65.4231

Median 65.0000

Mode 62.00%

Std. Deviation 7.85454

Variance 61.694]

Range 30.00

Minimum 50.00

Maximum 80.00

Sum 1701.00

a. Multiple modes exist. The

smallest valueis shown
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Appendix 12

The increase of students’ score of pretest and post test

74

STUDENT'S
NO CODE PRETEST | POST TEST | GAIN NOTE
1 AS 50 72 22 Improve
2 ASR 52 65 13 Improve
3 AA 40 60 20 Improve
4 AY 60 75 15 Improve
5 BS 55 67 12 Improve
6 CA 60 75 15 Improve
7 DR 52 67 15 Improve
8 EY 60 75 15 Improve
9 BW 65 80 15 Improve
10 EN 47 62 15 Improve
11 ER 35 57 22 Improve
12 FM 60 77 17 Improve
13 HY 45 62 17 Improve
14 HG 50 65 15 Improve
15 IM 35 52 17 Improve
16 IWP 70 77 Improve
17 LH 60 60 0 Stable
18 MA 60 67 Improve
19 ME 47 65 18 Improve
20 MS 32 50 18 Improve
21 NY 45 60 15 Improve
22 NW 60 55 -5 Decrease
23 PW 47 62 15 Improve
24 PA 60 67 7 Improve
25 YW 45 62 17 Improve
26 YS 55 65 7 Improve
TOTAL 1347 1701 351




appendix 13
Validity of Try Out Test
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Skor Total

38
37
36
36

33
33
32
32
30
30
29
29
28
27
27
26
26
25
25

24
24
22
22
20

19

0.38

TV/R

0.38

butir 48 |butir 49| butir 50

0.38

TV/R

butir 47

0.38

butir 46

0.38

TV/D

butir 45

0.38

butir 44

0.38

butir 43

0.38

TV/R

butir 42

0.38

0.357076 | 0.35431975 | 0.024077 | 0.3636965 | 0.55653247 | 0.1298002 | 0.3636965 | 0.298298 | 0.4413 | 0.2764093

0.38

butir 40 | butir 41

0.23
0.38
TV/D

butir39

0.38

butir38

0.38

butir37

0.38

\

butir36

0.38
TV/D

butir35

0.38
TV/R

butir34

0.38

\

butir33

0.38

butir32

0.38
TV/D

butir31

0.38
TV/D

butir30

0.41739936 | 0.3928852 [ 0.3577709| 0.4330127 | 0.41218935( -0.1471383| 0.0497 | 0.3551139| 0.407726 | 0.373395

0.38

\




Appendix 14

per  aspect
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1
1
0
1
1
0
1
1
0
1
0
0
1
1
0
1
0
0
1
0
0
1
0
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Appendix 15
score per aspect
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Appendix 16
Prequensi of Pretest and Post Test

Statistics
PRETTEST
N valid 26
Missing 0
PRETTEST
Cumulative
Frequency Percent Valid Percent Percent

valid 32.00 1 38 3.8 3.8
35.00 2 177 7.7 11.5
40.00 1 38 3.8 154
45.00 3 115 115 26.9
47.00 3 115 115 38.5
50.00 2 177 7.7 46.2
52.00 2 177 7.7 53.8
55.00 2 177 7.7 61.5
60.00 8 30.8 30.8 92.3
65.00 1 38 3.8 96.2
70.00 1 38 3.8 100.0
Total 26 100.0 100.0

Statistics

POSTTEST

N valid 26
Missing 0

78



POSTTEST
Cumulative
Frequency Percent Valid Percent Percent
valid 50.00 1 38 38 38
52.00 1 38 38 177
55.00 38 38 115
57.00 1 38 38 154
60.00 3 115 115 26.9
62.00 4 154 154 423
65.00 4 154 154 57.7
67.00 4 154 154 73.1
72.00 1 38 38 76.9
75.00 3 115 115 885
77.00 2 177 177 96.2
80.00 1 38 38 100.0
Total 26 100.0 100.0
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Appendix 17
Hypotesistesting

Descriptive Statistics

80

N Minimum | Maximum Mean Std. Deviation
POSTTEST 26 50.00 80.00 65.4231 7.85454
PRETEST 26 32.00 70.00 51.8077 9.74482
Valid N (listwise) 26

Paired Samples Statistics

Mean N Std. Deviation Std. Error Mean
Pair 1 POSTTEST 65.4231 26 7.85454 1.54040
PRETEST 51.8077 26 9.74482 1.91112
Paired Samples Correlations
N Correlation Sig.
Pair 1 POSTTEST & PRETEST 26 772 .000
Paired Differences
Std. 95% Confidence Interval of the
Mea| Deviatio | Std. Error Difference Sig. (2-
n n Mean Lower Upper t df tailed)
Pair POSTT |13.6| 6.20372 1.21665]11.10965 16.12112| 11.19 25 .000
1 EST- | 153 1
PRETE 8
ST




Appendix 18

The students' activity in experimental class

81

St , Total |Percentag| Total |Percentag| Tota |Percentag
udents

No Code Group Activities| e (%) |Activities| e (_%) Activities e.(%)

First Meeting Second Meeting Third Meeting

1 AS Group 1 10 100 10 100 10 100
2 EC 8 80 8 80 9 90
3 HG 8 80 8 80 8 80
4 AA Group 2 8 80 8 80 8 80
5 AY 5 50 6 60 8 80
1 EP 9 20 9 90 8 80
2 INP 5 50 8 80 8 80
3 AS Group 3 8 80 7 70 5 50
4 NY 8 80 8 80 9 90
5 LH 6 60 7 70 8 80
1 CA Group 4 9 90 9 90 8 80
2 NW 8 80 8 80 8 80
3 EwW 8 80 7 70 8 80
4 DR Group 5 8 80 4 40 8 80
5 YS 5 50 8 80 8 80
1 BS 9 20 8 80 8 80
2 E Group 6 7 70 8 80 8 80
3 MS 8 80 8 80 8 80
4 HY 5 50 8 80 6 60
1 WA Group 7 8 80 8 80 8 80
2 PW 8 80 8 80 8 80
3 ME 8 80 8 80 8 80
4 Y 7 70 8 80 8 80
1 Y Group 8 5 60 6 60 5 50
2 MA 8 80 8 80 8 80
3 FM 8 80 8 80 9 90

Note: The red number isthe score which is not fulfill the criteria of good level of students
activitivity in the teachina learnina process ( Arikunto, 2006:7).




Appendix 19
TheIncrease of Group Score

Group Students’ ! ?r?(l:\r/glg Group Category
Code . Score
Point

AS 20

1 Eé 38 23,5 Super Team
AA 20

2 AEY 38 20 Great Team
IN 20
AS 20

3 NY 20 16,6 Good Team
LH 10
CA 20

4 NW 20 235 Super Team
EW 30
DR 30

5 YS 30 20 Great Team
BS 20
E 30

6 MS 10 20 Great Team
HY 30
WA 0

7 m 38 20 Great Team
IM 30
Y 0

8 MA 38 16,6 Good Team




Appendix 20

the sample of students' grouping in experimental class

No. Ssttgjoe;; Gender Score |Category| Group
1 AY |Femade 70 upper 2
2 ASR [|Male 70 upper 3
3 MA |Femae 68 upper 8
4 AS |Made 66 upper 1
5 BS |Male 66 upper 5
6 CA |Made 62 upper 4
7 DR [|Male 62 upper 1
8 EY |Female 60 upper 1
9 BW |Femade 60 upper 4
10 EN |Male 60 upper 6
11 ER |Femade 58 upper 3
12 FM Male 56 upper 8
13 NY |Femade 56 upper 3
14 HG |Made 54 lower 3
15 M Mae 54 lower 7
16 IWP [Male 54 lower 2
17 LH |Female 52 lower 3
18 NW |Femade 52 lower 4
19 ME |Female 52 lower 7
20 MS |Femae 50 lower 6
21 HY |Femae 48 lower 6
22 AA |Mde 44 lower 2
23 PW |Female 44 lower 7
24 WA |Mde 40 lower 7
25 YW |Made 40 lower 8
26 YS |Female 38 lower 5
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Appendix 21. T-Table that is Used to Prove Whether The Data will be
Significant or Not.

NILAI-NILAI DALAM DISTRIBUS t
£ untuk uji dua pihak (two tail test)
Dk | 050 | 020 | 010 | 005 | 002 | o001
£ untuk uji satu pihak onetail test)
Dk | 0.25 0.10 0.05 0.025 0.01 0.005
1 | 1.000 | 3.078 | 6.314 | 12.706 | 31.821 | 63.657
2 | 0816 | 1.876 | 2920 | 4.303 6.965 9.925
3 | 0765 | 1638 | 2353 | 3.182 4.541 5.841
4 | 0741 | 1533 | 2.132 2.776 3.747 4.604
5 0.727 | 1476 | 2.015 2.570 3.365 4.032
6 0.718 | 1440 | 1.943 2.447 3.143 3.707
7 | 0711 | 1415 | 1.895 2.365 2.998 3.499
8 | 0.706 | 1.397 | 1.860 2.306 2.896 3.355
9 | 0.703 | 1.383 | 1.833 2.262 2.821 3.250
10 | 0.700 | 1.372 | 1.812 2.228 2.764 3.169
11 | 0697 | 1.363 | 1.796 2.201 2.718 3.106
12 | 0695 | 1.356 | 1.782 2.179 2.681 3.055
13 | 0.692 | 1.350 | 1.771 2.160 2.650 3.012
14 | 0691 | 1.345 | 1.761 2.145 2.624 2977
15 | 0.690 | 1.341 | 7.753 2.131 2.602 2.947
16 | 0689 | 1.337 | 1.746 2.120 2.583 2.921
17 | 0.688 | 1.333 | 1.740 2.110 2.567 2.898
18 | 0.688 | 1.330 | 1.734 2.101 2.552 2.878
19 | 0687 | 1.328 | 1.729 2.093 2.539 2.861
20 | 0687 | 1.325 | 1.725 2.086 2.528 2.845
21 | 0.686 | 1.323 | 1.721 2.080 2.518 2.831
22 | 0686 | 1.321 | 1.717 2.074 2.508 2.819
23 | 0685 | 1.319 | 1.714 2.069 2.500 2.807
t-table
24 | 0.685 | 1.318 | 1.711 2.064 2.492 2.797
25 | 0.684 | 1316 | 1.708 2.060 2.485 2.787
26 | 0684 | 1.315 | 1.706 2.056 2.479 2.779
27 | 0684 | 1314 | 1.703 2.052 2.473 2.771
28 | 0.683 | 1.313 | 1.701 2.048 2.467 2.763
29 | 0.683 | 1.311 | 1.699 2.045 2.462 2.756
2.042
30 | 0683 | 1.310 | 1.697 | t-table 2.457 2.750
40 | 0.681 | 1.303 | 1.684 2.021 2.423 2.704
60 | 0.679 | 1.296 | 1.671 2.000 2.390 2.660
120 | 0.677 | 1.289 | 1.658 1.980 2.358 2.617
o | 0674 | 1.282 | 1.645 1.960 2.326 2.576
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LESSON PLAN 1

Unit of education : SMP

Subject : English
Class/Semester S IXI

Skill : Reading
Genre : Anecdotes text
Time Allocation : 2X 45 minutes

. Standard Competence
Understanding the meaning of the texts monologue / essay form anecdote,
accurately, smoothly, and acceptable in the context of everyday life and
access to science.
1. Basic Competence
Understand and respond to the meaning of the text monologue / essay that
uses variety of written language accurately and fluently in anecdote
[11. Indicators
a) ldentifying the topic sentence of the text.
b) Interpreting the problem of the text.
c) Anayzing the multiple meaning (vocabulary) of the text.
d) Making theinference of the text.
e) Identifying the problem from the text.

1V. Learning Objectives
1. Process
a. Studentstry to find out the topic sentence from the text.
b. Studentstry to attain the problem of the text.
c. Students understand the multiple meaning (vocabulary) of
anecdotes text.
d. Studentstry to find out the inference of the text.

e. Students converse the characters view of the text.
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2. Product

a. Students are able to find out the topic sentence from the text.
Students are able to attain the problem of the text.
Students are able to understand the multiple meaning of the text.

Students are competence to find out the inference of the text.

® a o o

Students are capable to converse the characters view of the text.

IV. Learning Material

Teddy ‘s Dream

It was Saturday morning in May, when Mrs. Edward opened her curtains and
looked out, say.” he smiled and said, “it’s going to be beautiful day.” She woke
her small son up at eight-thirty and said to him, “ get up Teddy, we are going to
the zoo today. Wash your hands and face, brush your teeth and eat your breakfast
quickly. We’re going to go New York by Train.”

Teddy was six years old. He was very happy now, because he liked going to the
zoo very much, and he also like going by train. He said “I dreamed about the zoo
last night, Mommy.”His mother was in a hurry, but she stopped and smiled at her
small son. “you did, Teddy?” she said. “And what did you do in the zoo in your
dream? Teddy laughed and answered, “You know, Mommy! You were there in
my dream too.” Hill, L. A. (1996: Hal. 6)




VI.
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Time Allocation

2 X 45 minutes

- Pre activity : +10 minutes
- Whilst activity : +70 minutes
- Closure activity : _+ 10 minutes

Teaching Procedures

Pre— activity (10 minutes)

. Braindstorming between the teacher and students to construct their background

knowledge that related to the topic with answering several questions as

stimulant. For example:
T: “Do you know about anecdote text?”’
““Have you ever read anecdotes text?”’

It is used to build the students’ though before they learn further about

anecdotes text.

. Students listen to the teacher’s explanation about material they are going to

learn — that is about “Teddy’s dream”, the goals of learning to achieve, and
reading strategies the students use.

While - activity (£70 minutes)

. Students are divided into several groups based on smal group discussion

technique rules with three or four students within agroup. (Step 1)

2. The teacher gives the material for the students. (Step 11)

3.

Students listen to the rules of small group discussion technique told by the
teacher. (Step 111).

. Before starting to work in a group, the students receive a brief explanation

about the printed materials and answering several questions given by the

teacher oraly (Step V).
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5. The teacher asks the students to discuss the materials and do the assignment in
agroup. (Step V).

6. Some representative students from each groups present their discussion in front
of class while discusses it together with the teacher. (Step V1).

7. The teacher monitors the students activity while they are presenting and
discussing the material s together.

8. The teacher gives rewards to the best group in order to appreciate their work.

Post actvty (£10 minutes)
1. Students ask the teacher about the difficulties in understanding the lesson.

2. The teacher gives homework to the students.

VII. Evaluation
Reading comprehension by answering questions is given by the teacher that
should be done in a group.

Authentic Assessment :

Form : Eessay

Answer the following questions based on story abovel

1. What is the topic sentence of the text above? (topic sentence)

2. Why was Teddy happy? (inference)

3. Who are the characters of the text? (characters view)

4. “Because he liked going to the zoo very much (see line 6), the anthonym of the
bold word is..? (multiple meaning)

5. How old Teddy was and who are the characters of the story? (characters view)
6 What did Mrs. Edward’s ask Teddy? (inference)

7. Wash your hands and face (see line 4).

The underlined word is refers to? (multiple meaning)

8. What is the topic sentence of the last pharagraph? (Topic sentence)

9. Why does Teddy was happy? (interprating problem)

10. What happened in Ted’s dream? (interprating problem)
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Answer Key:
1. Teddy’s tell his dream to his mother.

2. Because he liked going to the zoo very much and he also liked going by train.
3. Teddy, Teddy’s mother (Mrs. Edward).

4. Hated

5. six years old. The characters of the story are Teddy and His mom

6. “you did, Teddy?”she said.” And what did you do in the zoo in your dream?”
7. Clean

8. Ted was very happy with his dream.

9. Teddy was happy because he went to the zoo with his mom

10. Ted isregarded that his mother were there in his dream



LESSON PLAN 2

Unit of education : SMP

Subject : English
Class/Semester S IXI

Skill : Reading
Genre : Anecdotes Text
Time Allocation : 2X 45 minutes

. Standard Competence
Understanding themeaning of the textsmonologue/essayform ofanecdotes
text,spoofandhortatory expositionaccuratel y,smoothly, andacceptablein the
context ofeveryday lifeandaccess toscience.

[I. Basic Competence
Understand andrespond tothe meaningof the textmonologue/essaythat
usesvarietyof written languageaccurately, fluentlyin anecdotes text.

[11. Indicator
a) Understanding the topic sentenceof the text.
b) Identifyingcharacters view of the text.
c) Determining the problem from the text
d) ldentifying the inference of the text.

e) Understanding multiple meaning (vocabulary) of the text.

IV. Learning Objective

1. Process
a. Students try to find out the topic sentence from the text.
b. Students try to interpreting problem from the text.

c. Students understand multiple meaning (vocabulary) from the text
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d. Students try to find out the inference of the text.
e. Students converse the characters view of the text.

2. Product

a. Students are able to find out the topic sentence from the text.

b. Students are capable to converse characters view/main character of the
text.

c. Students are able to interpreting the problem from the text.

d. Students are competence to find out the inference of the text.

e. Students are able to understand multiple meaningof the text.

V. Learning Material

Mike hated soap and water

Mike was a small boy, and he hated soap and water. Three or four times
every day his mother said to him, “Mike your hands are very dirty again.
Go and wash them. “But Mike never really washed them well. He only
put his hands in water for afew seconds and took them out again.

Mike’s uncle and aunt lived in another city. One day they came to stay
with Mike’s parents, and they brought their small son, Ted, with them.
Tedd was a younger than Mike, and he didn’t like soap and water, either.

The boys sat with their parents for afew minutes, but then they went
outside. When they were alone, mike looked at Ted’s hands and then said
proudly, “my hands dirtier than yours!”

“Of course they are, “Ted answered angrily. “you are a year older than
lam. (Taken from: Hill, L.A(1980:24)




V1. TimeAllocation

2 X 45 minutes

- pre activity : +10 minutes
- Whilst activity : +70 minutes
- Closure activity : _+ 10 minutes

VII. Teaching Procedures

Pre— activity (10 minutes)

1. Brainstorming between the teacher and students to construct their
background knowledge that related to the topic with answering several
guestions as stimulant. For example:

T: *“Have you ever heard about topic sentence?

“What is the meaning of topic sentence?”

It is used to build the students’ though before they learn further about
anecdotes text.

2. Students listen to the teacher’s explanation about material they are
going to learn — that is about “Mike hated soap and water”, the goals

of learning to achieve, and reading strategies the students use.

While Activity (= 65 minutes)

1. Students are divided into several groups based on small group
discussion rules with three or four students within agroup. (Step 1)

2. Theteacher givesthe material for the students.

3. Studentslisten to the rules of small group discussion technique told by

the teacher.
(Step 1)

4. Before starting to work in a group, students receive a short explanation
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about the written material and answering several questions given by
the teacher oraly (Step I11).

5. Students discuss the material and do the assignment in a group. (Step
1V)

6. Some representative students from each groups present ther
discussion in front of class while discuss it together with the teacher.
(Step V).

7. The teacher monitors the activity while the students present and
discuss the material together.

8. Theteacher givesthe rewardsto the best group in order to appreciate

their work.

Post-activity (£ 10 minutes)

1. Students ask the teacher about the difficulties in understanding the lesson.

2. Theteacher gives homework to the students.

VIlI. Evaluation
Reading comprehension by answering questions is given by the teacher that

should be done in a group.

Authentic Assessment

Form : Essay

Answer the following questions based on story above!

1. What isthe topic sentence of the first paragraph? (identify topic sentence)

2. What is the topic sentence from the second paragraph? (identify topic sentence)

3. What is Mike’s problem in the text? (interpreting problem)

4. After reads this text, what did Mike’s problem? (Interpreting problem)

5. . “Ted answered angrily” (see line 11). The synonym of the italic word is..?
(Multiple meaning)



6. What did mike do when his mother said, “Go and wash your hands”?
(inference)

7. What did Mike do when the two boys were alone? (inference)

8. What did Mike say to Ted? (inference)

9. Who visited Mike’s parents? (characters view)

10. Who are the characters of the text above? (Characters view)

Answer Key:

1. Mike hated soap and water.

2. Ted did not like soap and water, either.

3. Mike hated soap and water.

4. Mike hated soap and water, so he was lazy to wash his hand
5. Replied.

6. He only put his hands in the water for afew seconds.
7. Mike looked at Ted’s hands.

8. “My hands are dirtier than yours”.

9.Mikes’ uncle and aunt.

10. Mikes, Ted, Mike’s mother, Mike’s uncle and aunt.
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LESSON PLAN 3

Unit of education : SMP

Subject : English
Class/Semester  : IX/I

Skill : Reading
Genre : Anecdotes Text

TimeAllocation : 2 x 45 minutes

I. Standard Competence
Understanding themeaning of the textsmonol ogue/essayform
ofanecdotes,spoofandhortatory expositionaccurately,smoothly,

andacceptablein the context ofeveryday lifeandaccess toscience.

1. Basic Competence
Understand andrespond tothe meaningof the textmonologue/essaythat

usesvarietyof written languageaccurately and fluentlyin anecdotes text

IIl. Indicator

a) ldentifying the topic sentenceof the text.

b) Interpreting the problem of the text

c) Anayzingmultiple meaning (word meaning/vocabulary) from the text
d) Making theinference of the text.

€) Determining characters view of the text.
IV. Learning Objective
1. Process

a. Studentstry to find out the topic sentence from the text.

b. Studentstry to interprating problem from the text.
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C. Students understand the multiple meaning (word
meaning/vocabulary) of anecdotes text.

d. Studentstry to find out the inference of the text.

e. Students converse characters view of the text.

2. Product

a. Students are able to find out the topic sentence from the text.

b. Students are able to interprating problem from the text

c. Students are ableto understand the multiple meaning (vocabulary)
of the text.

d. Students are competence to find out the inference of the text.

e. Students are capable to converse the characters view of the text.

Learning Material

Miss Smith

When Mary Smith was a student, she always wanted to become a teacher,
because she liked children. When she was twenty-one years old, she began
teaching in asmall school. She was good teacher, and she laughed alot with the
children in her class. They enjoyed her teaching.

One day one of the girls in her class said to her, “Nmiss Smith, why does a
man’s hair becaome gray before his mustache and beard do?”

Merry laughed and answered, “I don’t know, Helen. Why does it become
gray before his mustache and beard do?”

“I don’t know either, Miss Smith,” annswered Helen, “but it happened to my
father.” The other children in the class laughed when they heard this.

Then one of the boys said. “l know, Miss Smith! Men’s hair becomes gray
first because it’s sixteen years older than their mustache and beard.”
Taken from: Hill, L.A (1980:20)
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VI. TimeAllocation

2 X 45 minutes

Pre activity : +10 minutes
Whilst activity  : +70 minutes
Post activity : + 10 minutes

VII. Teaching Procedures

Pre— activity (10 minutes)

1. Brainstormingbetween the teacher and students to construct their
background knowledge that related to the topic with answering several
guestions as stimulant. For example:

T: “Do you have a best friend? What is your best friend like?”
“What will you do if your friend laughing you?”
“What will you do if one of your friends is in trouble in the class?”

It is used to build the students’ though before they learn further about
anecdotes text.
2.Students listen to the teacher’s explanation about material they are going to
learn — that is about “ Miss Smith”, the goals of learning to achieve, and

reading strategies the students use.
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While Activity (x 65 minutes)

1. Students are divided into severa groups based on small group
discussion rules with three or four students within agroup. (Step 1)

2. Theteacher givesthe material for the students.

3. Studentslisten to the rules of small group discussion technique told by

the teacher.
(Step 1)

4. Before starting to work in a group, students receive a brief explanation
about the printed material and answering several questions given by the
teacher orally (Step I11). For example:

T: “What do you know about anecdotes text?”

“Based on the text, could you give me some characteristics of the

text?”

5. Students discuss the material and do the assignment in a group. (Step
1V)

6. Some representative students from each groups present their discussion
in front of class while discuss it together with the teacher. (Step V)

7. The teacher monitors the activity while the students present and discuss
the material together.

8. Theteacher givesthe rewards to the best group in order to appreciate
their work.

Post-test (£ 10 minutes)

1. Students asks the teacher about the difficulties in understanding the lesson.

2. Students infer what they have just already learned and get the conclusion

from the teacher.
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VIII. Evaluation
Reading comprehension by answering questions are given by the teacher that

should be donein a group.

Authentic Assessment
Form : Eessay

Answer the following questions based on story above!

1. Who the main character of the text?(characters view)

2. Why did Mary want to be ateacher? (inference)

3. When Mary Smith began to teach? (inference)

4. What is the main topic of the text above? (topic sentence)

5. What did Helen ask Miss Smith? (inference)

6. Who are the characters of the text above? (characters view)

7. What did Helen say when miss Smith asked her? (inference)

8. What did one of the boys answer? (inference)

9. “l don’t know either” (see line 9), the synonym of the italic word is...? (multiple
meaning)

10. What is the problem that they discussed in the text? (determining the
problem)

Key Answer:
1. Miss Smith (Mary Smith)

2. Because she liked children
3. When she was twenty-one years old
4. Discussion about man’s hair and mustache

5. “ Why does a man’s hair become gray before his mustache and beard to?”
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6. Miss Smith and her students.

7. “l don’t know either, Miss Smith. But it is happen to my father.
8. ““ Because it’s sixteen years older than their mustache and beard”.
9. Understand

10. About man’s hair and mustache



READING TEST ( TRY — OUT)

Subject : English
Level/Class : Junior High Schodf &rade
Time Allocation : 90 minutes

Read the text carefully then answer the questionsytgiving a cross mark (X)

on the correct option (a, b, c,ord).

Text 1
The following text is for the questions number Bto

The Sign

Jimmy lived in the country, and he loved playingimery shallow river
near his house; but then his father got a jobhigaity, and he moved there with
his family.

Their new house had a garden; but the garden wgsswell. Jimmy
wasn't very happy. “is there a river near here?akked his mother in the first
morning. His mother answered, “No, there isn't, thare’s a beautiful park near
here, Jimmy, and there’s a pool in it. We’'ll gorthéhis afternoon.” Then Jimmy

was happy.
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After lunch, Jimmy and his mother went to the pdikymy wanted to
walk near the pool, but there was a sign in frdnt.d¢dis mother read it to him:
“WARNING: This pool is dangerous. 367 people haakeh in to it.” Jimmy
looked into the pool carefully. Then he said “I caot see them.”

(Source: hill, L. A. (1980:2))

1. What is the topic sentence of paragraph 1?

a. Jimmy enjoys living in the country.

b. Jimmy loved playing in a very shallow river.

c. Jimmy’s father got a job

d. Jimmy and his family moved to a big city becausefaiher got a job
2. What is Jimmy’s problem in his new house?

a. There is no river there

b. The garden is very small

c. There is no the park there

d. There is no beautiful park near his house
3. What is the topic sentence of the second paoagra

a. Their new house has a big garden

b. Their new house has very small garden

c. Their new house does not have garden

d. Their new house does not have any garden house
4. What did Jimmy say when his mother read the gignm?

a. | can see them

b. | cannot see them

c. | see them

d. | see the pool
5. What did the sign in front of the pool say ?

a. This pool is dangerous.

b. The pool is not dangerous.

c. This pool is dirty

d. This pool is not dirty
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6.”Jimmy lookednto the pool carefully”
The underlined word refers to....
a. Took
b. Saw
c. Remembered
d. walked
7. Why was Jimmy happy in his new city?
a. Because the city was comfortable
b. Because his house was expensive
c. Because there was a park near the house
d. Because there wasn’t any park in there
8. Was Jimmy happy after he went to the park?
a. Yes, he was
b. Yes, he did
c. Yes, heis
d. No, he did not

Text 2
The following text is for the questions number A&
POLLY
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Polly went to school when she was six years old.telecher, Miss Yates,
was very nice, and the other children in her clese nice, too. But at the end of
the second day, when the other children left thestbom, Polly stayed behind
and waited.

Miss Yates had some work to do and did not seg/Rblirst, but then she
looked up and saw her. “Why didn’t you go with titber, Polly?” she asked
kindly. “Did you want to ask me a question?”

“Yes Miss Yates,” Polly said

“What is it?” Miss Yates asked.

“What did | do in school today?” she said. “Why ¢ou ask me that,
Polly?”

“Because I'm going to go home now,” Polly answetead my mother is
going to ask me.”

(Source: Hill. L. A. (1980:8))

9. What is the characteristic of Miss Yates intid?
a. is nice
b. Was very nice
C. are nice
d. are not nice
10. When does Polly ask her teacher in the clagsPo
a. In the afternoon
b. In the early morning
c. At the end of the second day
d. At the first day
11. What is the topic sentence of the first panalgPa
a. Polly went to school when she was six years old
b. Polly stayed behind and waited
c. Miss Yates had some work

d. Miss Yates was very nice
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13.

14.

15.

16.

17.

Why did Polly not leave the classroom with dfiger children?
a. Because she had some work
b. Because she wanted to ask Miss Yates a question
c. Because Miss Yates had some work for her
d. Because her mother had a question for her
Who are the characters of the text above?
a. The students
b. Miss Yates and the students
c. Miss Yates and Polly
d. Polly and her friends
Were Polly’s teacher and her class nice?
a. Her teacher was not nice, but some of the @rildrere
b. Her teacher and the children were nice
c. Her teacher was nice, but some children were not
d. Her teacher and children were not nice
What was Polly’s problem when she stood bettiedeacher?
a. she wanted to ask to the teacher
b. she wanted to give a gift to the teacher
c. she wanted to know the teacher’s work
d. she wanted to go home with the teacher
What question did Polly ask Miss Yates?
a. Why did you ask me that ?
b. Why didn’t you go with the other, Polly?
c. Did you want to ask me a question?
d. What did | do in school today?
“When the other childrdeft the classroom”,
What is the synonym of the bold word?
a. went
b. Missed
c. Lived
d. Stayed
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18. Why did Polly ask Miss Yates?
a. Because she was going to go home
b. Because she was angry with Miss Yates
c. Because Miss Yates was waited for her
d. Because her mother always wanted to know

19. Did Polly enjoy her first day at school?
a. Yes, she didn't
b. Yes, she did
c. No, she didn’t
d. yes, she does

Text 3
The following text is for the question number 2B

Dialog at the Cemetery

Jean was travelling around New England by car. @xyeshe stopped in a
small village to look at a beautiful old church.eFb was a cemetery in front of it,
and an old man was raking the grass around thegrav

Jean got out of her car, when into the cemeteryl@riced at some of
graves. Then, she went over to the old man andtsaion, “Good morning. Do
people often die in this village?”

The old man stopped working for a few seconds Idakelean carefully

and said, “No, they die once.”
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Jean laughed when she heard this, and then stid tdd man, “ | am
sorry. | did not say that correctly. I'll ask difemtly: “Do a lot of people die in
this village?” The old man stopped his work aga¥fes” he said. “All of them
do.” Then he began raking the grass again.

(Source: Hill, L. A (1980:10))

20. What does the text tell about?
a. The cemetery
b. Jean’s travel
c. A beautiful church
d. Old man
21. Jean was travelling around.....
a. New England
b. New England grave
c. A village
d. The cemetery
22. What is the topic sentence of the first parnalgpa
a. Jean was travelling around New England by car.
b. Jean meet the old man at the cemetery
c. Jean was travelling around New England by car.
d. Jean goes to small village
23. What does the old man’s do when he meets wah?J
a. Take of the grass
b. Travelling
c. Sitting
d. Raking the grass
24. What question did Jean ask the old man?
a. What did you do?
b. Do a lot of peoples die in this village?
c. Do peoples often die in this village?
d. Do people die in this village?
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25 “Do a lot of people die in this village?” The bold word is demiword to..
a. some
b. little
c. alittle
d. many
26. Based on question number 25, what did the @ld amnswer?
a. Yes, he said. All of them do
b. Yes they did
c. Yes they died once
d. No, they die once

27. “Jean laughed when sheard this.” (see par. 4)
The bold word is similar to...
a. watch
b. talk
c. listen
d. see
28. What does the fourth paragraph tell about?

a. The old man answer
b. The old man explanation
c. Jean explain her question
d. Jean asked to old man
29. “One day she stopped ismallvillage”. The antonym of the italic word is.....
a. Beautiful
b. Big
c. Nice
d. Old
30.“Yes” he said. “All of them do.”(see par. 4)
The underlined word refers to....
a. The old man
b. Jean
c. Jean’s driver
d

. The keeper of the church
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31. From the text above, we could conclude thaptbélem is....

a. Jean was fussy

b. The old man was deaf

c. Jean did not understand

d. There was misunderstanding between the old mdd@an
32. What did the old man do after answer Jean’stgure?

a. Cut the grass

b. Began to raking the grass

c. Began to finish his work

d. Began to talk to other peoples

Text 4
The following Text is for the question number 331d

Vocation

Bill and Fred were students at a university ang there friends. They
didn’t have much money, so when it was time forrteemmer vocation. Bill
said, “let’s take our vocation in a trailer, Fréits cheaper than a hotel. | can
borrow my father’s trailer.” Fred was very happy,tsey got into the trailer and

began their vocation.
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They wanted to get up early the next day to garighbut they didn’t
have an alarm clock.

“That’s alright, Bill,” Fred said. | will put thesemall pieces of bread on
the roof of the trailer of the trailer tonight atinety will wake us up in the
morning.”

Bill was very surprised but he did not say anything

Fred was right. As soon as it began to get lighilsbirds came down to
eat the bread, and their noise on the roof ofrdiéet woke Bill and Fred up very
quickly.

(Source: Hill. L. A.(1980:14))

33. What is the topic sentence of the text?
a. Fred and Bill were travelling
b. Summer vocation of Fred and Bill
c. Summer vocation
d. Fred and Bill's journey
34. Were Fred and Bill very happy when they hadcatioa?
a. Yes, they did not
b. Yes, they do
c. Yes they did
d. Yes, they were
35. Why did they want to get up early one day?
a. Because they wanted to go fishing
b. Because they wanted to fishing
c. Because they went to go travelling
d. Because they are fishing
36. What did Fred do in the morning?
a. He put alarm clock on the roof
b. He put a pieces of bread on the roof
c. He put alarm clock on the chair
d. He put the pieces of the bread on the chair



37. “It’s cheaper than a hotel” The italic word refers to
a. Bird
b. Fred
c. Trailer
d. Hotel
38. Why didn’t they set the alarm clock?
a. Because they did not have alarm clock
b. Because their alarm clock were broke
c. Because their alarm clock were be lost
d. Because they were diligent
39. Who are Fred and Bill?
a. They are English teachers
b. They are Plumbers
c. They are gardener
d. They are students at university
40. What happened in that morning?
a. Their alarm rang
b. Small birds came down and eat the bread
c. Small birds flied on the roof

d. Small birds run on the roof

41. “They wanted tget up early the next day to go fishingsee par. 2)

The bold word is similar word to....
a. Bath up
b. Take up
c. Wake up
d. Stand up
42. Why did they wake up very quickly?
a. Because their alarm clock was rang
b. Because the birds were noise.
c. Because the trailer were noise.

d. Because alarm and the bird were noise.
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Text5
The following text is for the question number 45

Bill of Plumber

Al Brown was very good at fixing things around tieuse when they
broke. One day he went to another city to do somk where, and his wife was
alone in the house. While Mr. Brown was away, ohine faucets on the bathe up
broke. Mrs. Brown did not know much about fixingpken faucets, so she
telephoned a plumber.

The plumber come to house that afternoon and fitiegiaucets in a few
minutes. When he finished, he gave Mrs. Brown Higdr the work.

She looked at it for several second and said, “yoizes are very high,
aren’t they? Do you know, the doctor costs lesa thas when he comes to the
house?”

“Yes, | know,” answer the plumber. “I know that yawell, because | was
a doctor until I was lucky enough to find this jatblew months ago.”

(Source: Hill. L. A.(1980:18)

43. What will Mr. Brown do in the other city?
a. He wanted to fix the faucet

b. He wanted to do his work
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c. He wanted to refreshing
d. Because he was very good at fixing thing
44. Who did fix Mrs. Brown’s faucet?
a. A gardener
b. An officer
c. A plumber
d. A farmer
45.*When he finished,he gave Mrs. Brown his bill for the work(see par. 2)
The bold word is refers to....
a. Mr. Brown
b. Mrs. Brown
c. Mr. Brown and Mrs. Brown
d. The Plumber
46. What was Mrs. Brown'’s problem?
a. She did not fix the faucets
b. She does not know much the faucets
c. She did not know much about fixing broken faucets.
d. She knows much about the faucets.
47. How long does the plumber fix the faucets?
a. a few minutes
b. a several times
C. one hour
d. one day
48.Mrs. Brown did not knownuch about fixing broken faucets,
(See par. L
The underline word is antonym word to......
a. Require
b. Understand
c. Comprehend
d. Want



49. What does Mrs. Brown say when she see the @dabill?

a.

b
C.
d

Where is your bill price?

. Do you know that the prices are very high?

Your prices are very high, aren’t they?

. Aren’t they

50. Why does the plumber know about the cost aiciait?

a. Because he was a doctor before fine the job.

b. Because he was live near a doctor

c. Because it was a doctor

d. Because he is a doter’s husband
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READING TEST (PRE TEST )

Subject : English
Level/Class : Junior High Schodf &rade
Time Allocation : 90 minutes

Read thetext carefully then answer the questions by giving a cross mark (X)

on the correct option (a, b, c,or d).

Text1
The following text is for the questions number Bto

Polly

Polly went to school when she was six years old.telecher, Miss Yates,
was very nice, and the other children in her clesse nice, too. But at the end of
the second day, when the other children left taestbom, Polly stayed behind
and waited.

Miss Yates had some work to do and did not segy/Rofirst, but then she
looked up and saw her. “why didn’t you go with ttaer, Polly?” she asked
kindly. “Did you want to ask me a question?” “Yesslsl Yates,” Polly said
“What is it?” Miss Yates asked.

“What did | do in school today?” she said. “Why giou ask me that, Polly?”
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“Because I'm going to go home now,” Polly answelteshd my mother is going
to ask me.” (Source: Hill. L. A. (1980:8))

1. What is the topic sentence of the first paralgpap

a. Polly went to school when she was six years old
b. Polly stayed behind and waited
c. Miss Yates had some work

d. Miss Yates was very nice

2. Who are the characters of the text above?

a. The students
b. Miss Yates and the students
c. Miss Yates and Polly

d. Polly and her friends

3. Did Polly enjoy her first day at school?

a. Yes, she didn't
b. Yes, she did

c. No, she didn't

d. Yes, she does

4. \What is the characteristic of Miss Yates intdna?

a. Is nice

b. Was very nice
c. Are nice

d. Are not nice

5. Were Polly’s teacher and her class nice?

a. Her teacher was not nice, but some of the childrere
b. Her teacher and the children were nice
c. Her teacher was nice, but some children were not

d. Her teacher and children were not nice

6. When does Polly ask her teacher in the clagsPoo

a. In the afternoon
b. In the early morning
c. At the end of the second day
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d. At the first day
7. “When the other childreleft the classroom”,

What is the synonym of the bold word?
a. Went
b. Missed
c. Lived
d. Stayed
8. What question did Polly ask to Miss Yates?

a. Why did you ask me that?

b. Why didn’t you go with the other, Polly?
c. Did you want to ask me a question?

d. What did | do in school today?

Text 2
The following text is for the questions number 4%

Vocation

Bill and Fred were students at a university ang there friends. They
didn’t have much money, so when it was time foirteemmer vocation. Bill
said, “let’s take our vocation in a trailer, Fréits cheaper than a hotel. | can
borrow my father’s trailer.” Fred was very happg,tsey got into the trailer and

began their vocation.
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They wanted to get up early the next day to garighbut they didn’t
have an alarm clock.

“That’s alright, Bill,” Fred said. | will put thesemall pieces of bread on
the roof of the trailer of the trailer tonight atiety will wake us up in the
morning.”

Bill was very surprised but he did not say anything

Fred was right. As soon as it began to get lighilsbirds came down to
eat the bread, and their noise on the roof ofrdiéet woke Bill and Fred up very
quickly. (Source: Hill. L. A.(1980:14)

9. Who are Fred and Bill?
a. They are English teachers
b. They are Plumbers
c. They are gardener
d. They are students at university
10. What is the topic sentence of the text?
a. Fred and Bill were travelling
b. Summer vocation of Fred and Bill
c. Summer vocation
d. Fred and Bill's journey
11. “It’s cheaper than a hotel” The italic word refers.to.

a. Bird
b. Fred
c. Trailer
d. Hotel
12. “They wanted tget up early the next day to go fishingsee par. 2)

The bold word is similar word to....

a. Bath up

b. Take up

c. Wake up

d. Stand up

13. Were Fred and Bill very happy when they hacdatioa?

a. Yes, they did not
b. Yes, they do
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c. Yes they did
d. Yes, they were
14. Why didn’t they set the alarm clock?
a. Because they did not have alarm clock
b. Because their alarm clock were broke
c. Because their alarm clock were be lost
d. Because they were diligent
15. Why did they wake up very quickly?
a. Because their alarm clock was rang
b. Because the birds were noise.
c. Because the trailer were noise.
d. Because alarm and the bird were noise.

Text 3
The following text is for the question number 1@

The Sign

Jimmy lived in the country, and he loved playingiimery shallow river
near his house; but then his father got a jobhigaity, and he moved there with

his family.
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Their new house had a garden; but the garden wgskall. Jimmy
wasn’t very happy. “is there a river near here?aklked his mother in the first
morning. His mother answered, “no, there isn'’t, thatre’s a beautiful park near
here, Jimmy, and there’s a pool in it. We’'ll gorthéhis afternoon.” Then Jimmy
was happy.

After lunch, Jimmy and his mother went to the pdikymy wanted to
walk near the pool, but there was a sign in frdnt.¢lis mother read it to him:
“WARNING: This pool is dangerous. 367 people haakeh in to it.” Jimmy
looked into the pool carefully. Then he said “I sahsee them.”

(Source: hill, L. A. (1980:2))

16. What is the topic sentence of paragraph 1 ?
a. Jimmy enjoys living in the country.
b. Jimmy loved playing in a very shallow river.
c. Jimmy’s father got a job
d. Jimmy and his family moved to a big city becahisefather got a job
17. Why was Jimmy happy in his new city?
a. Because the city was comfortable
b. Because his house was expensive
c. Because there was a park near the house
d. Because here wasn’'t any park in there
18. What is Jimmy’s problem in his new house?
a. There is no river there
b. The garden is very small
c. There is no the park there
d. There is no beautiful park near his house
19. What is the topic sentence of the second papag@r
a. Their new house has a big garden
b. Their new house has very small garden
c. Their new house does not have garden
d. Their new house does not have any garden house
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20. Was Jimmy happy after he went to the park?
a. Yes, he was
b. Yes, he did
c. Yes, heis
d. No, he did not
21. What did the sign in front of the pool say?
a. This pool is dangerous.
b. The pool is not dangerous.
c. This pool is dirty
d. This pool is not dirty
22. What did Jimmy say when his mother read the ®dim?
a. | can see them
b. I cannot see them
c. | see them
d. | see the pool

Text4
The following Text is for the question number 23to

Dialog at the Cemetery
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Jean was travelling around New England by car. dayeshe stopped in a
small village to look at a beautiful old church.€efa was a cemetery in front of it,
and an old man was raking the grass around thegrav

Jean got out of her car, when into the cemeteryl@iced at some of
graves. Then, she went over to the old man andtgdian, “Good morning. Do
people often die in this village?”

The old man stopped working for a few seconds |dakelean carefully
and said, “No, they die once.”

Jean laughed when she heard this, and then stid tdd man, “ | am
sorry. | did not say that correctly. I'll ask difemtly: “Do a lot of people die in
this village?”. The old man stopped his work agayes” he said. “All of them
do.” Then he began raking the grass again. (Sottitlel. A (1980:10))

23. What is the topic sentence of the first parnalgpa
a. Jean was travelling around New England by car.
b. Jean meets the old man at the cemetery
c. Jean was travelling around New England by car.
d. Jean goes to small village
24. What does the text tell about?
a. The cemetery
b. Jean’s travel
c. A beautiful church
d. Old man
25. What does the fourth paragraph tell about?
a. The old man answer
b. The old man explanation
c. Jean explain her question
d. Jean asked to old man
26. What does the old man’s do when he meets wah?J

a. Take of the grass
b. Travelling

c. Sitting

d. Raking the grass



123

27. What question did Jean ask the old man?

a. What did you do?
b. Do a lot of peoples die in this village?
c. Do peoples often die in this village?

d. Do people die in this village?

28. Based on the fourth question, what did thenwdesh answer?

a. Yes, he said. All of them do
b. Yes they did

c. Yes they died once

d. No, they die once

29 “Doalot of people die in this village?” The bold word is daniword to...

a. some
b. little
c. alittle

d. many

30. “Jean laughed when sheard this.” (See par. 4)

The bold word is similar to...

a. watch
b. talk
c. listen

d. see

31.“Yes” he said. “All of them do.”(see par. 4)

The underlined word refers to....

a. The old man

b. Jean

c. Jean’s driver

d. The keeper of the church
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Text5
The following text is for the question number 32

Bill of Plumber

Al Brown was very good at fixing things around ti@ise when they

broke. One day he went to another city to do somk where, and his wife was
alone in the house. While Mr. Brown was away, ohine faucets on the bathtub
broke. Mrs. Brown did not know much about fixingoken faucets, so she
telephoned a plumber.

The plumber come to house that afternoon and fitiegiaucets in a few
minutes. When he finished, he gave Mrs. Brown Higdy the work.

She looked at it for several second and said, t poiges are very high,
aren’t they? Do you know, the doctor cost less th@when he comes to the
house?”

“Yes, | know,” answer the plumber. “| know that yewell, because | was
a doctor until I was lucky enough to find this jalblew month ago.”

(Source: Hill. L. A.(1980:18)

32. What was Mrs. Brown’s problem?
a. She did not fix the faucets
b. She does not know much the foucets
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c. She did not know much about fixing broken faucets.
d. She knows much about the faucets.
33. What will Mr. Brown do in the other city?
a. He wanted to fix the faucet
b. He wanted to do his work
c. He wanted to refreshing
d. Because he was very good at fixing thing
34. How long does the plumber fix the faucets?
a. a few minutes
b. a several times
c. one hour
d. one day
35. Who did fix Mrs. Brown’s faucet?

a. A gardener
b. An officer
c. A plumber
d. A farmer
36.Mrs. Brown did not knownuch about fixing broken faucefsee par. L

The antonym of the underlined word is,...
a. Require

b. Understand

c. Comprehend

d. Want

37.“When he finished,he gave Mrs. Brown his bill for the work{see par. 2)
The bold word is refers to....
a. Mr. Brown
b. Mrs. Brown
c. Mr. Brown and Mrs. Brown
d. The Plumber

38. Why does the plumber know about the cost aiciat?
a. Because he was a docter before fine the job.

b. Because he was live near a doctor



c. Because it was a docter

d. Because he is a doctor’'s husband

39. What does Mrs. Brown say when she see the @dmbill?

a.
b.
C.
d.

Where is your bill price?

Do you know that the prices are very high?
Your prices are very high, aren’t they?
Aren’t they

40. What was Mrs. Brown'’s problem?

a.

b
C.
d

She did not fix the faucets

. She does not know much the faucets
She did not know much about fixing broken faucets.

. She knows much about the faucets.
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READING TEST ( POST TEST )

Subject : English
Level/Class : Junior High School 3 Grade
Time Allocation : 90 minutes

Read thetext carefully then answer the questions by giving a cross mark (X)

on the correct option (&, b, c,or d).

Text1
The following text isfor the question number 1to 8

Bill of Plumber

Al Brown was very good at fixing things around the house when they
broke. One day he went to another city to do some work there, and his wife was
alone in the house. While Mr. Brown was away, one of the faucets on the bathtub
broke. Mrs. Brown did not know much about fixing broken faucets, so she
telephoned a plumber.

The plumber come to house that afternoon and fixing the faucets in a few
minutes. When he finished, he gave Mrs. Brown his bill for the work.
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She looked at it for severa second and said, “your prices are very high,
aren’t they? Do you know, the doctor cost less than this when he comes to the
house?”

“yes, | know,” answer the plumber. “ I know that very well, because | was
adoctor until 1 was lucky enough to find thisjob afew monthsago.”

(Source: Hill. L. A. (1980:18))

1. How long does the plumber fix the faucets?
a. afew minutes
b. aseveral times
C. one hour
d. one day
2. What will Mr. Brown do in the other city?
a. He wanted to fix the faucet
b. He wanted to do hiswork
c. He wanted to refreshing
d. Because he was very good at fixing thing
3. What does Mrs. Brown say when she see the plumber’s bill?
a. Where are your bill prices?
b. Do you know that the prices are very high?
c. Your prices are very high, aren’t they?
d. Aren’tthey
4. **When he finished, he gave Mrs. Brown his bill for the work™ (see par. 2)
The bold word isrefersto....
a  Mr. Brown
b. Mrs. Brown
c. Mr. Brown and Mrs. Brown
d. The Plumber

5. What was Mrs. Brown’s problem?

She did not fix the faucets

She does not know much the faucets

She did not know much about fixing broken faucets.
She knows much about the faucets.

oo T



129

6. Why does the plumber know about the cost of a doctor?
a. Because he was a doctor before fine the job.

b. Because he was live near a doctor

c. Because it was a doctor

d. Because heisadoctor’s husband
7. Mrs. Brown did not know much about fixing broken faucets,

(seepar. 1)

The underline word is antonym word to......

a

b.
C.
d.

Require
Understand
Comprehend
Want

8. Who did fix Mrs. Brown’s faucet?

e.

f.

g

Text 2

a. A gardener
b. An officer
c. A plumber

The following text isfor the question number 9 to 18

Dialog at the Cemetery
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Jean was travelling around New England by car. One day she stopped in a
small villageto look at a beautiful old church. There was a cemetery in front of it,
and an old man was raking the grass around the graves. Jean got out of her car,
when into the cemetery and looked at some of graves. Then, she went over to the
old man and said to him, “Good morning. Do people often die in this village?”

The old man stopped working for afew seconds looked at Jean carefully
and said, “No, they die once.”

Jean laughed when she heard this, and then said to the old man, “l am
sorry. | did not say that correctly. I’ll ask differently: “Do a lot of people die in
thisvillage?” The old man stopped his work again. “yes” he said. “All of them
do.” Then he began raking the grass again. (Source: Hill, L. A (1980:10))

9. What is the topic sentence of the first paragraph?
a. Jean was travelling around New England by car.
b. Jean meets the old man at the cemetery
c. Jean was travelling around New England by car.
d. Jean goesto small village
10. What question did Jean ask the old man?
a. What did you do?
b. Do alot of peoplesdiein thisvillage?
c. Do peoples often die in this village?
d. Do people diein this village?

11. “Jean laughed when she heard this.” (see par. 4)
The bold word is similar to...
a. watch
b. tak
c. listen
d. see

12. “One day she stopped in a small village”. The antonym of the italic word is.....
a. Beautiful
b. Big

c. Nice
d. Old
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13. What does the text tell about?
a. The cemetery
b. Jean’s travel
c. A beautiful church
d. Old man
14. What does the fourth paragraph tell about?
a. The old man answer
b. The old man explanation
c. Jean explain her question
d. Jean asked to old man
15. Based on the fourth question, what did the old man answer?
a. Yes, hesaid. All of them do
b. Yesthey did
c. Yesthey died once
d. No, they die once
16 “Do alot of peoplediein thisvillage?” The bold word is similar word to..
a some
b. little
c. alittle
d. many
17. What does the old man’s do when he meets with Jean?
a. Take of the grass
b. Travelling
c. Sitting
d. Raking the grass
18. “Yes” hesaid. “All of them do.” (see par. 4)
The underlined word refersto....
a Theold man
b. Jean
C. Jean’sdriver
d. The keeper of the church
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Text 4
Thefollowing Text isfor the question number 19 to 25

Vocation

Bill and Fred were students at a university and they were friends. They

didn’t have much money, so when it was time for their summer vocation. Bill
said, “let’s take our vocation in a trailer, Fred. It’s cheaper than a hotel. I can
borrow my father’s trailer.” Fred was very happy, so they got into the trailer and
began their vocation.

They wanted to get up early the next day to go fishing, but they didn’t
have an aarm clock.

“That’s alright, Bill,” Fred said. | will put these small pieces of bread on
the roof of the trailer of the trailer tonight and they will wake us up in the
morning.”

Bill was very surprised but he did not say anything.

Fred was right. As soon asit began to get light, small birds came down to
eat the bread, and their noise on the roof of the trailer woke Bill and Fred up very
quickly. (Source: Hill. L. A.(1980:14))

19. What is the topic sentence of the text?

a. Fred and Bill weretravelling

b. Summer vocation of Fred and Bill
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C. Summer vocation
d. Fred and Bill’s journey
20. Were Fred and Bill very happy when they had vocation?
a. Yes, they did not
b. Yes, they do
c. Yesthey did
d. Yes, they were
21. “It’s cheaper than a hotel” The italic word refers to
a Bird
b. Fred
c. Trailer
d. Hotel
22. Why didn’t they set the alarm clock?
a. Because they did not have alarm clock
b. Because their alarm clock were broke
c. Because their alarm clock were be lost
d. Because they were diligent
23. Who are Fred and Bill?
a. They are English teachers
b. They are Plumbers
c. They are gardener
d. They are students at university
24. “They wanted to get up early the next day to go fishing” (see par. 2)
The bold word is similar word to....
a. Bathup
b. Takeup
c. Wakeup
d. Stand up

25. Why did they wake up very quickly?
a. Because their alarm clock was rang

b. Because the birds were noise.
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c. Because the trailer were noise.
d. Because alarm and the bird were noise.

Text 4
The following text is for the questions number 26 to 32.

The Sign

Jimmy lived in the country, and he loved playing in a very shallow river
near his house; but then his father got ajob in abig city, and he moved there with
his family.

Their new house had a garden; but the garden was very small. Jimmy
wasn’t very happy.” is there a river near here?” he asked his mother in the first
morning. His mother answered, “no, there iisn’t, but there’s a beautiful park near
here, Jimmy, and there’s a pool in it. We’ll go there this afternoon.” Then Jimmy
was happy.

After lunch, Jimmy and his mother went to the park, Jimmy wanted to
walk near the pool, but there was a sign in front of it. His mother read it to him:
“WARNING: This pool is dangerous. 367 people have fallen in to it.” Jimmy
looked into the pool carefully. Then he said “I can not see them.”

(Source: hill, L. A. (1980:2)
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26. What is the topic sentence of the second paragraph?
a. Their new house has a big garden
b. Their new house has very small garden
c. Their new house does not have garden
d. Their new house does not have any garden house
27. Why was Jimmy happy in his new city?
a. Because the city was comfortable
b. Because his house was expensive
c. Because there was a park near the house
d. Because there wasn’t any park in there
28. What is the topic sentence of paragraph 1?
a. Jimmy enjoys living in the country.
b. Jimmy loved playing in avery shalow river.
c. Jimmy’s father got ajob
d. Jimmy and his family moved to abig city because his father got a job
29. What did Jimmy say when his mother read the sign to him?
a. | can seethem
b. I cannot see them
C. | seethem
d. | see the pool
30. What is Jimmy’s problem in his new house?
a. Thereisnoriver there
b. The garden is very small
c. Thereis no the park there
d. Thereis no beautiful park near his house
31. What did the sign in front of the pool say?
a. Thispool is dangerous.
b. The pool is not dangerous.
c. Thispool isdirty
d. Thispool isnot dirty
32. Was Jmmy happy after he went to the park?

a Yes, hewas
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b. Yes, hedid
c. Yes, heis
d. No, hedid not

Text5
The following text is for the questions number 33 to 40

Polly

Polly went to school when she was six years old. Her teacher, Miss Y ates,
was very nice, and the other children in her class were nice, too. But at the end of
the second day, when the other children left the classroom, Polly stayed behind
and waited.

Miss Y ates had some work to do and did not see Polly at first, but then she
looked up and saw her. “Why didn’t you go with the other, Polly?” she asked
kindly. “Did you want to ask me a question?”

“Yesmiss Yates,” Polly said

“What is it?” Miss Yates asked.

“What did I do in school today?” she said. “Why did you ask me that,
Polly?”

“Because I’m going to go home now,” Polly answered,” and my mother is
going to ask me.” (Source: Hill. L. A. (1980:8))



33. Who are the characters of the text above?
a. The students
b. Miss Y ates and the students
c. Miss Y ates and Polly
d. Polly and her friends

34. What is the topic sentence of the first paragraph?
a. Polly went to school when she was six years old
b. Polly stayed behind and waited
. Miss Y ates had some work

d. Miss Y ates was very nice

35. Were Polly’s teacher and her class nice?
a. Her teacher was not nice, but some of the children were
b. Her teacher and the children were nice
c. Her teacher was nice, but some children were not

d. Her teacher and children were not nice

36. When does Polly ask her teacher in the classroom?
a. In the afternoon
b. In the early morning
c. At the end of the second day
d. At thefirst day

37. Did Polly enjoy her first day at school?
a Yes, she didn’t
b. Yes, shedid
c. No, shedidn’t
d. yes, she does

137
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38. “When the other children left the classroom”,
What is the synonym of the bold word?
a went
b. Missed
c. Lived
d. Stayed

39. What is the characteristic of Miss Y ates in the text?
a Isnice
b. Was very nice
c. Arenice
d. Arenot nice
40. What question did Polly ask Miss Y ates?
a. Why did you ask me that?
b. Why didn’t you go with the other, Polly?
c. Did you want to ask me a question?
d. What did | do in school today?
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ANSWER KEY (PRETEST)

1A 21. A
2.C 22.D
3.B 23. A
4.B 24.B
5. B 25.C
6.C 26.D
7.A 27.D
8.D 28.D
9.0 29.C
10.B 30.C
11.C 31. A
12.C 32.C
13.D 33.B
14. A 34.A
15.B 35.C
16.D 36.B
17.C 37.D
18.B 38. A
19.B 39.C

20.C 40.C
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ANSWER KEY (POSTTEST)

1A 21.C
2.B 22. A
3.C 23. D
4.D 24.C
5.C 25.D
6. A 26.B
7.B 27.C
8.C 28.D
9.A 29.B
10.B 30.D
11.C 31.A
12.B 32.A
13.B 33.C
14.C 34.A
15.D 35.D
16.D 36.B
17.D 37.B
18.D 38. A
19.B 39.D
20.D 40.D
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Choase the Correct Answer by Crossing (X) the Right Answera, b, ¢, or d.
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Choose the Correct Answer by Crossing (X) the Right Answera, b, ¢, or d,
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